HiE XA SRR EERN KT 7 )

RER
SM2F1H6H




02 01 06

4

160

60| |

R2

R5

5.9ha R2

0.9ha R5

ha

ha

6ha

ha

lha

0000143731




R02 |R03 [R04 [ROS5 [RO6

A07-001

406m

®1200 @ 1350 L=

160

100 /h

160 |

160 |

0000143731




0000143731



KD 24« 2 IAR

SHEOZF | ) kiR A E xR 7T v G5 - &4 (EAG)
2 o 3 BRIEE  ~ SFGHEE  (AER) [ g |EwR maid
]
EEREZRKEEFETZ2 (100mm/hLinT52)
SREHEE 1200 L=321m(H27~H30)
I8 ¢ 1200~1350 L=406m(R1~R5)
MK EIRE M (LT #ER)
EFEIL $1200~1350 L=406m
EE20e - |
RU7K iR B i (R #4%) (H3052 7)
EET $1200 L=321Tm
WEh
= RS . N.:{glj
GEANSI6; e
e N —  EEWESHAX
= ; X&) — R
hRaBHE S RU7K R B s (R #24R)
7K e R E s (LU R ERER)




SN B DATIRDL

(B47 - | M)

R2

R3

R4

R5

fcsr4E (a)

40 40 40
SHE A A A (b)
0 0 0
Zf1EE (c=a+b
STH (c=a+b) 40 40 40
Hii b OREEEAE (d
RIAEE D & DfEi4E (d) 0 0 0
N "’E‘
SINEEE (e) 40 40
IR (D . .
5 b AR (g) 0 0
~F%E (h=c+d-e-f
A% (h=c+d-e-f) 0 0
RILHER+ AR (1=(g+h)/(c+d))% 0 0

KR A HES10% 22 TV 58
HDZF DMK




